ATTACCHI SPECIFICI PER - SPECIFIC FITTING KIT FOR .
KIT DE MONTAGE SPECIFIQUE POUR - SPEZIFISCHER MONTAGEKIT FUR
ANCLAJE ESPECIFICO PARA

-

~

YAMAHA X-MAX 125-250
2010

ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES DE MONTAJE

\_

(D446KIT - D446KIT)N

J

( @ )

( @ )
@

VITE 540TC DETANHNE@MXL"M“ BOCCOLA DI
§l§f,fg,§?'“° SCREW m{ao,sm,m VITE TBEI M6x25mm | [RITENZIONE VETRO
SUPPORT SCHRAUBE OIS 3%REW PD%STE&%L&ET\QUE
E'S%QPENG TORNILLO DISTANZSTUECK SCHRAUBE BUCHSE PLASTIK
TORNILLO CASQUILLO
_ QTYn.- JQTYn.2pxs0)| QTY¥Yn2 ) QT¥Yn2 )| QTYnd ) QTYn4d )

GOMMINO
7268

(" )
&

DADO A.B. RIB. M6

FLANGIATO

BOLT M6
FAIRLEADER ECROU M6
CHAUMARD MUTTER M6
TUERCA M6
_ QTYn4 J| Q.IYn4d )
RONDELLA @6mm
WASHER @émm
RONDELLE @émm
SCHEIBE @émm
ARANDELA @émm

Q.TY n.2

) —

MOUSSE PROTETTIVA
Moussel)

0x80
PROTECTIVE RUBBER PADS
MOUSSE DE PROTECTION
SCHUTZGUMMI

ESPUMA ADHESIVA PROTECTORA

r

PRIWWE

~

.

e

© Copyright 260210ARRev00, 1 /f{

-

7




